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Part C

The mass flow rate of the refrigerant is determine from the energy balance of
the condenser where the enthalpy and entropy of the refrigerant at the inlet
of the condenser are taken from A-13 for the given pressure and temperature
while the enthalpy and entropy at the exit are taken from A-12 for the given
pressure and state:
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The rate of exergy destruction in the condenser is determined from the rate
of entropy generation:
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Part A
The refrigeration load is determined from the rate of rejected heat which
is expressed through the mass flow rate of the water and its temperature
inerease:
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The COP is then:
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Part B
The second-law efficiency is determined from the maximum COP:
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The total exergy destruction is determined from the minimum and actual
power inputs:
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